
[image: image1.emf]- ʤʩʸʨʮʥʰʥʢʩʸʨ - ʤʩʸʨʮʥʠʩʢ   2     )      1 �ʹʬʥʹʮ�ʯʥʺʰ   ) ABC : �ʥʩʺʥʲʬʶ�ʩʫʸʥʠ�ʺʠ�ʯʮʱʰ  .  td =  BC ,  d = AC ,  d 3 = AB .( 3  > t > 2     �ʺʠ�ʠʶʮ   ) ʠ t . ʺʩʥʥʦ�ʤʤʷ�ʹʬʥʹʮʤ�ʭʸʥʡʲ�   :  �ʯʥʺʰ   ) ʡ 2.5  = t . ʹʬʥʹʮʤ�ʬʹ�ʺʩʥʥʦʤ�ʺʠ�ʠʶʮ .    �ʤʣʥʷʰʤ   ) ʢ D   �ʲʬʶʤ�ʬʲ�ʺʠʶʮʰ AB - ʹ�ʪʫ� CD �ʬʹ�ʺʩʥʥʦʤ�ʤʶʥʧ� C> .   1 )  �ʬʹ�ʺʩʥʥʦʤ�ʤʶʥʧ�ʺʠ�ʠʨʡ C> �ʺʥʲʶʮʠʡ� d .   2 �ʹʬʥʹʮʤ�ʧʨʹ�ʯʩʡ�ʱʧʩʤ�ʥʤʮ   ) BDC �ʹʬʥʹʮʤ�ʧʨʹ�ʯʩʡʬ� ACD  ?   3 �ʹʬʥʹʮʤ�ʺʠ�ʭʱʥʧʤ�ʬʢʲʮʤ�ʱʥʩʣʸ�ʯʩʡ�ʱʧʩʤ�ʺʠ�ʡʹʧ   ) BDC �ʭʱʥʧʤ�ʬʢʲʮʤ�ʱʥʩʣʸ�ʯʩʡʬ� �ʹʬʥʹʮʤ�ʺʠ ACD  .     2 �ʬ�ʤʥʥʹ�ʤʸʦʢ�ʱʥʩʣʸ   ) R �ʬ�ʤʥʥʹ�ʤʸʦʢʡ�ʭʥʱʧʤ�ʬʢʲʮ�ʱʥʩʣʸʥ� r . ʤʸʦʢʤ�ʬʹ�ʧʨʹ�ʡʹʧ .    3 : �ʨʹʴ   )  
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  �ʸʹʠʫ 1 ʥ > k . ʥ   4 �ʺʥʩʥʥʦ�ʭʠ : ʧʫʥʤ   ) A , B , C �ʹʬʥʹʮ�ʬʹ� ABC :  �ʺʥʤʦ�ʺʥʮʩʩʷʮ�   �ʬ�ʤʥʥʹ�ʥʩʺʥʩʥʥʦʮ�ʺʧʠ ,  ʦʠ� ° 60  .
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  5 �ʭʤʩʱʥʩʣʸʹ�ʭʩʬʢʲʮ�ʩʰʹ   ) R -  ʥ� R 0.25   �ʬʢʲʮ�ʬʹ�ʦʫʸʮ�ʪʸʣ .  ʭʩʰʴʡʮ�ʤʦʬ�ʤʦ�ʭʩʷʩʹʮ �ʸʨʥʷ�ʸʡʥʲ�ʬʥʣʢʤ BC �ʹʬʥʹʮ�ʬʹ�ʧʨʹ�ʠʶʮ .  ʯʨʷʤ�ʬʢʲʮʬ�ʷʩʹʮʤ� ABC .   6 �ʥʧʨʹ�ʲʥʣʩ�ʭʠ ,  �ʭʩʩʷʥʹ�ʤʥʥʹ�ʦʴʸʨ�ʬʹ�ʤʣʧ�ʺʩʥʥʦ�ʠʶʮ   ) S - ʥʩʱʩʱʡʥ� a , b  ,( b > a ).   7 )  �ʹʬʥʹʮ�ʯʥʺʰ ABC .  AE -  ʥ� BD �ʺʥʲʬʶʬ�ʭʩʰʥʫʩʺ� BC - ʥ� AC �ʭʩʰʥʫʩʺʤ .  ʤʮʠʺʤʡ� AE -  ʥ� BD   �ʤʣʥʷʰʡ�ʭʩʫʺʧʰ O :  �ʯʮʱʰ .  α = BAE>  , β = ABD>  , d = AB .   �ʹʬʥʹʮʤ�ʧʨʹ�ʺʠ�ʲʡʤ   ) ʠ ABC �ʹʬʥʹʮʤ�ʧʨʹʥ�� OEB   �ʺʥʲʶʮʠʡ d , α , β .   �ʬ�ʤʥʥʹ�ʩʰʹ�ʯʩʡʥ�ʯʥʹʠʸ�ʧʨʹ�ʯʩʡ�ʱʧʩ�ʩʫ�ʧʫʥʤ   ) ʡ 6 .  


